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Most Bxpected 250 Questions (Super Series) B

228, 348, 543, 277, 449, 522

If 1 is subtracted from the last digit of each of the
numbers then how many numbers thus formed which

will be divisible by 5?
‘qﬁ?SRﬁwszxcanékeﬂﬁ%qwaﬁsiiii1ﬁa21f%antﬁnzdi
TH TR fohast Ty -1t 5t 5 & forrsr git?

(1) One
(2) Two
(3) Three
(4) Four
(5) None
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228, 348, 543, 277, 449, 522

After arranging all the digits in increasing order
(within the number) what is the sum of third digit of
the highest number and third digit of the lowest
number so formed

Y 3ieRT AT Tgd ShA | (TTAT o W) ST RUd HA
o IT1E 39 YRR T Tad TSI GEIAT o die 3ieh 3R
Y BT AT o S 1Y 2ieh ST TN ORI 82

()13

2) 10

3) 16

4) 14

(5) None of these
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228, 348, 543, 277, 449, 522

Which one of the following numbers will be placed at
the end of the series when all the numbers are
changed to sum of their digits and then arranged in
ascending order from left to right?

Gﬁﬂ%ﬁﬁTFﬂ§Jﬁﬁiaﬁr3qé;3nﬁi%5€ﬁnﬁiaﬁﬁwf%aTGﬂQj
AT T 910 o 21U STRIET hA W oAy fehdT SATT av
ffeTiRaa & & i €t T gEet & ofd ° Tl
JATTT?

(1) 522

(2) 228

(3) 277

(4) 449

(5) None of these
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228, 348, 543, 277, 449, 522

What will be the result when the first digit of the
third highest number is multiplied by the third digit
of the second-lowest number?

S et Fad T ST % U 3k i gE dad
zfnﬁ*aﬂsurés?ﬁnftenaaiiTnanéawrGnmréitﬂﬁUﬂnTEﬁwr
FA L 1V

(1) 32

(2) 35

(3) 36

(4) 28

(5) None of these
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228, 348, 543, 277, 449, 522

If all the digits are arranged in descending order
within the number, which of the following are the
greatest and the lowest number respectively?

It T TRt hil TEAT & Wi TR ShH | sTafierd
fora STTE, @t FferiRaa § O shAsT: 9oy agt 3
ATY BT TEAT hiA HT 22

(1) 543 and 277
(2) 522 and 449
(3) 543 and 228
(4) 543 and 348
(5) None of these
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The position of how many alphabets will remain
unchanged if each of the alphabets in the word
‘PAMPERATION?’ is arranged in the alphabetical
order from left to right?

e 'PAMPERATION' &€ o Tcdleh 378 hl 10 §
27T AUTHTAT sHW W skl forat STe ar ferar erem
1 Rerfa sraftataa w2

(1) Two

(2) Four

(3) Three

(4) One

(5) More than four
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Statements:

No htis ev.

Only a few sd are rg.
Some rg are ht.
Conclusions:

I. All sd are ht.

I1. All ev being rg is a possibility.

(1) None follows.

(2) Only I follows.

(3) Either I or II follows.
(4) Only II follows.

(5) Both I and II follow.
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Statements:

All S are C.

Only a few S are K.
Some K are not N
Conclusions:

I. Some K are not S.

I1. Some C are N.

(1) None follows

(2) Only I follows

(3) Either I or II follows
(4) Only II follows

(5) Both I and II follow
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Statements:

All N are B.

No G is N.

All X are B.

Conclusions:

I. All X being G is a possibility.
I1. All G being N is a possibility
(1) None follows.

(2) Only I follows.

(3) Either I or II follows.

(4) Only II follows.

(5) Both I and II follow
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Statements:
Some aa are bb.
All aa are dd.

All dd are ee.
Conclusions:

I. All aa not being dd is a possibility.

I1. All aa being ee is a possibility.

(1) None follows

(2) Only I follows

(3) Either I or II follows
(4) Only II follows

(5) Both I and II follow
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Statements:
Some K are M.
Some Y are M.

Some M are N.
Conclusions:

I. Some N being Y is a possibility.

I1I. Some K are Y.

(1) None follows

(2) Only I follows

(3) Either I or II follows
(4) Only II follows

(5) Both I and II follow
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Eight people A,B,C,D,E,F,G and H are of different
weight but not necessarily in the same order. C is
heavier than H who is lighter than F. A and B are
heavier than E. Only two people are heavier than G.
D is the lightest person. H is lighter than only four
people. Minimum three people are heavier than A
and B.

A AR A, B, C, D, E, F, G 3R H 3TeTT-3TeT IS
& B TITeh STl 21 foh 3T SR W 11 C, H & WRr g 5
F ¥ ST €1 A 3R B, E ¥ 9T §| Shael S A6 G |
AT ¥| D & goeht St gl H el OR SAhal &
TERT 2| =AW i ST A 3R B & aTit €
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Eight people A,B,C,D,E,F,G and H are of different
weight but not necessarily in the same order. C is
heavier than H who is lighter than F. A and B are
heavier than E. Only two people are heavier than G.
D is the lightest person. H is lighter than only four
people. Minimum three people are heavier than A
and B.

Who is heaviest?

(D) F

2) A

3)B

4) C

(5) Cannot be determined
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Most Bxpected 250 Questions (Super Series) /
Eight people A,B,C,D,E,F,G and H are of different
weight but not necessarily in the same order. C is
heavier than H who is lighter than F. A and B are
heavier than E. Only two people are heavier than G.
D is the lightest person. H is lighter than only four
people. Minimum three people are heavier than A
and B.

If the weight of H is 76 kg and the second heaviest
person is 81 kg then what will be the weight of G?
(1) 88 kg
(2) 80 kg
3) 77 kg
(4) 5SS kg

(5) Either 2 or 3
4 @Reasoningbybasantsir
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Eight people A,B,C,D,E,F,G and H are of different
weight but not necessarily in the same order. C is
heavier than H who is lighter than F. A and B are
heavier than E. Only two people are heavier than G.
D is the lightest person. H is lighter than only four
people. Minimum three people are heavier than A
and B.

How many people are heavier than D?

(1) More than five

(2) Four

(3) Three

(4) Five

(5) None

4 @Reasoningbybasantsir



Mbst Expected 250 Questions (Super Series) %

4 @Reasoningbybasantsir

- IBPS

Statements:
a>b<c<d<e,e=f<r>m
Conclusions:

I.b>m

II.cSm

(1) If only conclusion 1 is true.

(2) If only conclusion 11 is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor 11 is true.
(5) If both conclusions I and II are true.
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Statements:

B<E<L<G>H>D

Conclusions:

I.G>B

II. GLL

(1) If only conclusion 1 is true.

(2) If only conclusion 11 is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor 11 is true.
(5) If both conclusions I and II are true.
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Statement:

A<B<C>H-=I<T

Conclusions:

.C>1

II. T>C

(1) If only conclusion 1 is true.

(2) If only conclusion 11 is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor 11 is true.
(5) If both conclusions I and II are true.
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Statement:

P2ZQ>R>0=S

Conclusions:

IL.LP>S

I.Q>0

(1) If only conclusion 1 is true.

(2) If only conclusion 11 is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor 11 is true.
(5) If both conclusions I and II are true.
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Statement:

H2I>R=M>N

Conclusions:

I.H=N

II.H>M

(1) If only conclusion 1 is true.

(2) If only conclusion 11 is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor 11 is true.
(5) If both conclusions I and II are true
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In a family of six persons — Z, M, H, K, N and T- there are
three males and three females. There are two married
couples and two persons are unmarried. Each one of them
reading a book of different pages viz. 207, 263, 202, 123, 119
and 209 but not necessarily in the same order. N, who reads
the book of 207 pages, is the mother-in-law of M, who is the
wife of H. K is the father of T and he does not read the book
of 119 pages and the book of 123 pages. Z reads the book of
209 pages and she is the sister of T, who reads the book of

263 pages. H does not read the book of 119 pages.
BEARAT - Z, M, H, K, N 3R T - e Ueh qﬁanfr?ﬁ-—rw
aﬁ??ﬁ?ﬂ%ﬂm%la*%laﬁaﬁ%%sﬁ?ﬁ—aﬁﬁaﬁaﬁa%l
ITH | Tk STETT-3TeTT Ut shi Ueh fohaTar Ug TeT 21 207, 263,
202, 123, 119 3ﬁ1209ﬁ%wqﬁﬁssﬁmﬁ€rm ST
207%6&%@1@@% M, STHHRTTATZI K, T
o7 AT £ ST aE 119 O ST AT 391 123 U1 307 FpaTar e
AT 2l Z 209 U Y fohdta ugar  ofR a8 T hi a1 8, At
74 @Reasoningbybasantsir 263 U <hT Rt Tgdt 31 H 119 ST hl Y&k I8! ugdT 2
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In a family of six persons — Z, M, H, K, N and T- there are
three males and three females. There are two married
couples and two persons are unmarried. Each one of them
reading a book of different pages viz. 207, 263, 202, 123, 119
and 209 but not necessarily in the same order. N, who reads
the book of 207 pages, is the mother-in-law of M, who is the
wife of H. K is the father of T and he does not read the book
of 119 pages and the book of 123 pages. Z reads the book of
209 pages and she is the sister of T, who reads the book of
263 pages. H does not read the book of 119 pages.

Who among the following read a book of 119 pages?

()T

2)Z

B H

4M

(5) None of these

4 @Reasoningbybasantsir
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In a family of six persons — Z, M, H, K, N and T- there are
three males and three females. There are two married
couples and two persons are unmarried. Each one of them
reading a book of different pages viz. 207, 263, 202, 123, 119
and 209 but not necessarily in the same order. N, who reads
the book of 207 pages, is the mother-in-law of M, who is the
wife of H. K is the father of T and he does not read the book
of 119 pages and the book of 123 pages. Z reads the book of
209 pages and she is the sister of T, who reads the book of
263 pages. H does not read the book of 119 pages.

How is T related to N?

(1) Daughter

(2) Son

(3) Son-in -law

(4) Brother

(5) None of these

4 @Reasoningbybasantsir
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In a family of six persons — Z, M, H, K, N and T- there are
three males and three females. There are two married
couples and two persons are unmarried. Each one of them
reading a book of different pages viz. 207, 263, 202, 123, 119
and 209 but not necessarily in the same order. N, who reads
the book of 207 pages, is the mother-in-law of M, who is the
wife of H. K is the father of T and he does not read the book
of 119 pages and the book of 123 pages. Z reads the book of
209 pages and she is the sister of T, who reads the book of
263 pages. H does not read the book of 119 pages.

How many sons does K have?

(1) Two

(2) Three

(3) None

(4) One

(5) None of these

4 @Reasoningbybasantsir



Mbst Expected 250 Questions (Super Series) i

~ IBPS

In a family of six persons — Z, M, H, K, N and T- there are
three males and three females. There are two married
couples and two persons are unmarried. Each one of them
reading a book of different pages viz. 207, 263, 202, 123, 119
and 209 but not necessarily in the same order. N, who reads
the book of 207 pages, is the mother-in-law of M, who is the
wife of H. K is the father of T and he does not read the book
of 119 pages and the book of 123 pages. Z reads the book of
209 pages and she is the sister of T, who reads the book of
263 pages. H does not read the book of 119 pages.
Which of the combination of the book’s pages and the
person is correct?
(1) K-207
(2) 7-209
(3) H-202
(4) M-263
(5) None of these
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In a family of six persons — Z, M, H, K, N and T- there are
three males and three females. There are two married
couples and two persons are unmarried. Each one of them
reading a book of different pages viz. 207, 263, 202, 123, 119
and 209 but not necessarily in the same order. N, who reads
the book of 207 pages, is the mother-in-law of M, who is the
wife of H. K is the father of T and he does not read the book
of 119 pages and the book of 123 pages. Z reads the book of
209 pages and she is the sister of T, who reads the book of
263 pages. H does not read the book of 119 pages.

How is M relatedto Z.?

(1) Daughter

(2) Son

(3) Sister-in -law

(4) Brother

(5) None of these

4 @Reasoningbybasantsir
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If it is possible to make only one meaningful English word
with the second, third, sixth and seventh letters of the word
‘TELEPHONE’, which of the following will be the third
letter of that word from the left? If no such word can be
made, give ‘X’ as the answer and if more than one such
word can be formed, give ‘Y’ as the answer.

I 'TELEPHONE' 7153 o G, T8, B¢ 3R ATad Te/ |
Tt Ueh TTeieh SIS 962 ST GH B, aF a6 & 39 978 T
e srer fAeferfaa # @ @i a1 22 afe vat g vree e
ST ST TehelT 8, A1 3T 6 ®UH X' & 3R afe W o A
3TTereR ITeg &l TATU AT Hhd &, AT ST B ETH 'Y S|

(D) H

(2) L

) E

4) X

)Y
4 @Reasoningbybasantsir
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There are eight persons namely S, T, U, V, W, X, Y and Z
live on eight different floors from one to eight. The ground
floor is numbered 1 and the top most floor is numbered 8
but not necessarily in the same order. X lives on an odd-
numbered floor but does not live on the 3rd floor. Z lives
immediately below X. More than two persons live between
Z and Y. There are six persons living between S and Y. V
lives immediately above W but lives below T. U does not live
above X. W does not live immediately above Y.

TS ATk AATMS, T, U, V, W, X, Y 3R Z Tk ¥ 313 dh
HATS - HISTeTl UL T8 &1 WA hi HEAT 1 7 FAR Td
SO HITeT AT TEAT 8  eifeh STl 78l foh s sea A 2l X
forew deaT areft HiNTer UR TEdT € Tichd it Histet U &t
AT 21 Z, X o 3Ieh A1 W@l gl Z 3R Y o sl 3 | iereh
=qf*h @ 51 S AR Y o 1T B8 AT Bd 8l V, W o 3lh FW

<4 @Reasoningbybasantsir T &, Tfeh T o el T 81 U, X o ek S0 &l a2 .
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There are eight persons namely S, T, U, V, W, X, Y and Z
live on eight different floors from one to eight. The ground
floor is numbered 1 and the top most floor is numbered 8
but not necessarily in the same order. X lives on an odd-
numbered floor but does not live on the 3rd floor. Z lives
immediately below X. More than two persons live between
Z and Y. There are six persons living between S and Y. V
lives immediately above W but lives below T. U does not live
above X. W does not live immediately above Y.

Q.24 How many persons live between W and X?
(1) One
(2) Three
(3) Five
(4) Two
(5) None of these

4 @Reasoningbybasantsir
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There are eight persons namely S, T, U, V, W, X, Y and Z
live on eight different floors from one to eight. The ground
floor is numbered 1 and the top most floor is numbered 8
but not necessarily in the same order. X lives on an odd-
numbered floor but does not live on the 3rd floor. Z lives
immediately below X. More than two persons live between
Z and Y. There are six persons living between S and Y. V
lives immediately above W but lives below T. U does not live
above X. W does not live immediately above Y.

Who lives on floor number five?

(HU

2)S

R) Y/

@GDHT

(5) None of these
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